
safety glasses
phillips screwdriver
3/16 hex key
1/8 hex key
vice grips
hammer

1. Turn the chair upside down to reveal the 
leg glides protruding from the bottom of 
the leg. Use vice grips to clamp down 
on the glide and then tear it out. The use 
of a hammer to tap on the vice grips 
may help the glides to be pulled out.

3. Use an 1/8 inch hex key to unscrew 
the set screw located underneath the 
arm. This will release the seat back from 
the arm.

4. Use a 3/16 hex key to unscrew 
the bolts holding the seat to the 
frame. Once all of the hex bolts are 
unscrewed, you will have to pull the 
back of the chair away from the metal 
frame. Note you will have to pull the 
arms off of the set screws in the back of 
the seat before the seat can be lifted of

	 the steel frame

2. While the chair is upside down, use a 
Phillips head to unscrew the seat pan 
(figure B1). Once you unscrew and 
remove the plywood seat pan you 
will see that underneath are another 4 
screws holding the seat to the frame. 
Unscrew them to drop the seat from the 
metal frame (figure B2).

www.stylexseating.com 800.257.5742   Disassembly Mark 2

- Seat
- Material:
  Foam, plywood, upholstery

-Frame structure
-Material: Steel

-Seat pan
-Material: Plywood

x4
x4

x4
x4

x4

C

A

D

-Leg cap glide
-Material: HDPE Plastic

x4

- 3/16 hex key bolts
-(1/8-20) screws
-(1/4-10) screws 
- Set screw
-Materials:
Steel, aluminum

Tools Required

Disassembly and Recycling Document
Disassembly Time:10min / No Special Training Required

Breakdown Steps

Model: Mark 2
*Refer to P.2 for model variations 

- Back
- Material:
  Foam, plywood, upholstery

C

B1 B2

P.1

- Spacers
-Materials: HDPE plastic



www.stylexseating.com 800.257.5742   Disassembly Mark2

Disassembly and Recycling Document
Disassembly Time:10min / No Special Training RequiredModels: Mark 2

P.2

Chair Variations
Mark 2
The Mark 2 comes in three different variations avail-
able with and without arms.

- Molded plywood back with upholstered seat 
(figure A1).
- Fully upholstered with arms (figure A2).
- Stool frame (figure A3)

Disassembly for all of these versions is fairly similar 
to the original. Please use P1 as a disassembly 
reference for all of these variations.

A2 A3A1


	Disassembly Mark2 00
	Disassembly Mark2 P2 00

